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Numeracy
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An apple costs 12p
An orange costs 20p
Write down an expression for the

cost in pence of buying x apples
and y oranges
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Reflect the shape in the red line
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April 14th 5-a-day

Foundation

The probability of getting a square
number when rolling a dice is ¥4

What is the probability of not getting
a square number?
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The probability a train arrives in Antrim
on time is 0.7.

If 50 trains arrive in one week, how
many will be on time?

0-2¥50= 735

What is the gradient of this line?
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What is the equation of the line?
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Higher

Write 84 000 000 in standard form
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Write 4.5 x 104 as an ordinary
number.
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On the grid to the right, mark the
region with an R that satisfies the
inequalities above.
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Express 0.37272727272.... as a
fractlon
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